Text p. 242 Answer Key
1)
3

2)
2

3)
3

4)
1

5)
3 (omit)

6)
3

7)
1

8)
1

9)
1

10)
1

11)
4

12)
Condensation, raises the temperature by releasing heat

13)
2

14)
4

15)
A – transpiration and evaporation, B – condensation, C – Precipitation, 

D – Runoff E -- Infiltration

16)
Energy added to the water causes it to turn to water vapor

17)
Low permeability or steep slope or saturated soil or frozen ground or precipitation rate exceeds infiltration rate

18)
Slows runoff, allows transpiration to occur, uses groundwater to then allow more infiltration

19)
It would be higher

20)
Plants add moisture to the atmosphere via transpiration

